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.~ Consider the following diagram for our fictitious, island-bound economist.
Shown on the diagram are alternative consumption/production opportunities sets {
and II), alternative indifference curves (U and Uy), and alternative decision points (X
and }).

Pineapples
in month 1
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Pineapples In month 2

Answer the following questions and show your work on any computations.

2 What are the rates of exchange for consumption opportunities lines I and II7(be
careful to express your answers in terms of units of second-month consumption per
unit of first-month consumption or vice versa.)

b.If the consumption good is also a capital good, what is the marginal product of
capital for each of the opportunities sets I and II? (Again, be sure to express your
answer in appropriate units.)

c.What is the minimum rate of interest at which this individual will make a loan if
schedule I is applicable? If schedule II is applicable?
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1. Full employment exists when everyone:
(a). is working.
(b). who wants to work is working at the job he or she desires.
(c). who wants to work at the prevailing wage rate is working at the job he or she desires.
(d). who wants to work at the prevailing wage rate is working at a job for which
he or she is quatified.

5 If the nominal rate of interest does not increase in proportion to the increase in
prices during inflation, this is a good time to be a

(a). lender - -

{b). borrower
(c). saver

(d). aand ¢ ' | : i

3. Gross national product (GNP) is the total value of in the economy during 7

a given year,
(a). sales

(b). final goods and services produced ' .

(c). consumer goods produced
(d). investment goods produced

4. The most likely outcome of printing money to finance deficits is:
(a). legal difficulties.
(b). unemployment.
{c). inflation.
(d). a run on banks.

5. A tax on aresource or input its price and its use.

(a). increases; increases 4

(b). decreases; increases
(c). increases; decreases

(d). decreases; decreases “
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CASE 1
Jun Huang got a job working in the Chinese Information and Culture Center.

Since jobs were scarce and this one paid particularly well. Jun arrived on her first day
of work highly motivated. Two week later, however her motivation was quite low.
What happened was that her coworkers consistently bad-mounted their jobs. They
said the work was boring, having to clock in and out proved management didn’t trust
them, and supervisor never listened to their opinions. The objective characteristics of
Jun’s job had not changed in the two-week period; rather Jun had reconstructed reality
based on messages she had received from others.

Questions:
1. Which theory can be applied to the situation described in the case?

2, Explain the theory?

CASE 2
Victor Electric is a Kaohsiung based firm that employs about 2,400 people and

gengrates 90 percent of its sales from manufacturing arc-welding equipment and
supplies. Founded in 1985, the company’s legendary profit-sharing incentive system
and resultant productivity record are the envy of the manufacturing world.

Factory workers at Victor receive piece-rate wages with no guaranteed minimum
hourly pay. After working for the firm for two years, employees begin to participate in
the year-end bonus plan. Determined by a formula that considers the company’s gross
profits, the employee’s base piece rate, and merit rating, it may be the most lucrative
bonus system for factory workers in Taiwan manufacturing, The average size of the
bonus over the past 15 years has been 95.5 percent of base wages!

The company has a guaranteed employment policy, which it put, in place in 1988.
Since that time, it has not laid off a single worker, In return for job security, however,
employees agree to several things. During slow times, they will accept reduced work
periods. They also agree to aceept work transfers, even to lower paid jobs, if that is

necessary to maintain a minimum of 30 hours of work per week.

You'd think the Victor Electric system would attract quality people, and it does.
For instance, the company recently hired four Sun Yat-Sen University MBAs to fill
future management slots. But, consistent with company tradition, they started out, like

everyone else, doing piecework on the assembly line.
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Victor Electric’s profit-sharing incentive system has provided positive benefits
for the company as well as for its employees. One company executive estimates that
Victot's overall productivity is about double that of its domestic competitors. The
company has earned a profit every year since the 1988 and has never missed a
quarterly dividend. And Victor has one of the lowest employee turnover rates in
Taiwan industry.

Questions:

1. Summarize the important facts in the case?

2. Which theory can be applied to the situation described in the case?
3. Explain the theory?

4, Apply the theory to explain the situation.
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Part IT. (Please show your calculations and circle your answers)

1. The defective rate of machine A is PA, machine

To test the hypothesis, 100 products from machine A are randomly selected which yielded 30

BisPB. Itis said that PA- PB> 0.05.

defectives; 200 from machine B yielded 40 defectives. What is the P-value of this test? What is

the conclusion? (10%)

2. Cl, C2 are two sets of sample data from population 1 and 2 stored in Column 1, 2,

respectively. N is the number of data in the Column. MU means the population mean or expected

value. SE MEAN is the standard error. CI means Confidence Interval. NE means Not Equal. P is
the p-value. DF is the Degrees of Freedom. Given the following output from MINITAB:

TWOSAMPLE T FOR C1 VS C2
N MEAN STDEV

Cl 50 96.8 10.4

C2 50 109.2 13.1

SE MEAN
1.5
1.8

95 PCT CI FOR MU C1 - MU C2:(-17.1, -7.7)

TTEST MU C1 = MU C2 (VS NE): T=-5.26 P=0.0000 D¥=93.4

Please give at least 2 inferences that you may find from the output about the difference between

population means MU of C1 and MU of C2. (10%)

3.  Given the following information from MINITAB:

STDEV
13.1
16.2

N MEAN
C2 50 109.2
C3 50 99.1

SE MEAN
18
23

(a) Assume that the populations have equal vanance,
MU C2 - MU C3 (5%) |
(b) With equal population variances, test if MU C2 >

4,  Given the regression results from MINITAB:

THE REGRESSION EQUATION IS
C4 =164+ 0.879-C6

Find a 90% confidence interval for

MU C3 at 0.05 significance level. (5%)

ST. DEV.

COEFFICIENT
16.4087
0.87885

COLUMN
Constant
C6

0.2842

0.04004

OF COEF.
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S =0.6109 |
R-SQUARED = 92.7 PERCENT

ANALYSIS OF VARIANCE

DUE TO DF SS
REGRESSION 1 179.79
RESIDUAL 38 14.18
TOTAL 39 193.98

1) Do a t-test to see if the model is significant at 0.05 level. (5%)
2) If C6 is increased by 10 units, what will happen to C47 (5%)

5. Given the following results from MINITAB: (as a continuation of 4.)

THE REGRESSION EQUATION IS
C4=13.1+0.574 C6+0.0523 C7

MS=SS/DF
179.79
0.37

ST. DEV.
COLUMN COEFFICIENT OF COEF.
Constant 13.1438 0.8907
C6 0.57385 0.08710
C7 0.05227 0.01372
S =0.5247

R-SQUARED = 94.7 PERCENT

R-SQUARED = 94,5 PERCENT, ADJUSTED FOR D.F.

ANALYSIS OF VARIANCE

DUE TO DF S8

REGRESSION 2 183.790
RESIDUAL 37 10.185

TOTAL 39 193.975

MS=SS/DF

91.895
0.275

1) Do a hypothesis test at 0.05 significance level to see if the coefficients of C6 and C7 are both
zero.(Tell the exact d.f. you should use, and the closest value you choose in your test.) (5%)
F(1,30,0.05)=4.17, F(1,40,0.05)=4.08
F(2,30,0.05)=3.32, F(2,40,0.05)=3.23

2) Use the information in 4. to find the coefficient of partial determination between C4 and C7
given that C6 is already in the model. (5%)
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(A ) B HEREmREETI e
(B ) BRA B BEAE
(c) ARIEE (HSHE)

(D) BHIZBHEH -

o HATIHE HREWLFIEHRLE - REFEERE - SRR R
7 - M E TS RS |

(a) HAbA

(B) FENE

( c ) SBIERR - BESNRITHERA

(D) BEAR - BEEMESITERR -

10 HAFNRBILLER 3 1> MRS 1 1 - BUHARETHIREIR
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WRLEE K
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1 @I BATRAYY | PR e SERALREZER - (5%)

2 FEERP T ASIEEAE . o (5%) |

3 TR A G S HEIE ( Bctiviy-bassd Costig System ) ? BHIEERATFMT
FITE? (6% ) .

B REAZE SRAM (9RIIRNE i IR E R AR SLIRENTR AL ZE DRANM
HER T AR - R o BURE AR BT REN AN R T
AMTERIHIRE - IR RS B - AT RENR THTRERIER
FIRREHTIONRER ? REZLESITRE? 205)

m .

Sy ey B EE S $300 » BAPEIRARS210 - BIERFRS4500 -
RIE 054)

1ERTHIIBEERET?

2 EBETONISR - HREMRS1,800 7

3 EEISA SRR, 20% BUFE » RIZREREETRALY

4 RN 2 MR AR I$20 - [EE S $1,700 HEATAELY EE

- BT

5 SRS R 200 BBAT » FIEUR$3,500 - TR LaTh A sk~ gaz -l
(S E B ?

F, bl AEHSEEBE F-5 Bt 100,000 A7 DUSPIHAERZ F - SURASIRATT ©

o>

A~ FFIRTILAT A - B RENMIHIEDR ¢

HEME $ 200,000
EEAT 550,000
WENRLEE T 450,000
ElE S ©_..700,000
& B $1,900,000

2TV FHRBTAE I 100,000 B F-5 BAHGTLAT] » SRLTE
EE$15 o WEUATEDHRES - QSRR F-5 BIEZ R - TRE
F4:$150,000 [FASA B ML RE - BRELZ A4 - FAREE F-5 BANEERES
BRI - FRATES LIS -

2 :

ARG ERREAT RS (137)

AR M B &M

A $2,100,000 $6,300,000
e p=io ] 147,000 504,000
BREE " 700,000 2,800,000

2

LEHE A - B TESFIRRZEEE - (85)

7 R A R R F N A L VSRR 10% » EHE A ~ BRIRIFIN
FIRFE - (85)
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BHBE - AHEZATOFEMEBRARBOE AL o A%E
PAEBEFHAALLERAR  FAROB IR AES o 3
%
(1) PREZAHOALTHRBAFZIHELHE? (2 045)
(2) FRETEHB 2RkMAaE#EAH? (1 54)

=~ THEZREFER > ATE AT TRBREAAEZRER THEK

HE—RBEIAEY o (1 55) )

(1) TEREAHBKNEZELRBERAERAR -KIRZE T
EEEZERE  PHBE2ERERABFHK -

(2) CHREZTHFEFER > BERARLRME » X B i

CHINRITERAFRERERG - 853 R~

B AT RS o | |
(3) BAKRPE > GEAT1I Lo £ 0 THASRE TS .

ERRLERETRIGZBR 25 » ELEBRABKREDEHBL
ATH > BAREAZERA - :

Z~ 5RO ANRBFTHBAHE LR FHROAE > Pl
T TEFH SRR £ TARSHE, WESR2EE
W BRBEAEFNERATH PR ELBRALHNENER > B
Wil TR F TRAEHEARSBTHTENELE . (255)

W HEHEACESY TSNS AEN ) (workplace
transformation and innovation);® ¥ 4 A 77 #8570 55 B 64 37 AR 45

[Appelbaum & Batt, 1994; Kochan, Katz, & McKersie, 1986] » i3 # #k T

RAE R OHRAH AT CHE - ERESHRO IR RBH

AR -RETLRE SHMMER ~ By HBHER s b TR )
120

BRI ZH - HRRABRT MR EFHASENRT
RRMPE > ARBERSTARTROERZE - (2 654)
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ey HEZPLAEATLEEEAREERESHAERA

12 points for Problems 1-7, 16 points for Problem 8.

5 1. Let n and r be two positive integers and n > 7. Prove that [n/r] = n/2r,

where [z] is the integer part of z; that is 7.2 ="1,1[6] = 6.

B 9. Show that there is no polynomial p(z) such that, for each positive inieger n,
B p(n)=10g1+log2+---+logn.
i 3. Find _

1o}, 1 s

(a? — 4z + 4){z? — 4z + 5)

4. Fvaluate the limits
' ’ (1 1
g0ty et 1

).

F 5. Prove that
1

150 1@ = i 175

is an increasing function.

> 1,

T, &

6. Test the following series for convergence or divergence.

l.

1 1 1 1
—_ _—+_——+...+___‘.‘_-—-—'+..-
3t3 A 3 BE 3 /3503

201, 7. Find the points on the curve of intersection of the two surfaces

a? —zy+yi—2t=1and 2+ y? = 1 which are nearest to the origin.

8. (4 points) (i) Find

[~ [ te "t dt.
0

B (12 points) {ii) For what s does the following integral converge?

25| V fm fi=t et dt.
. Y

BB ATEREEEE LT | % IR RIR
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